
LÖTSPITZEN AUSWAHLTABELLE
T1-08D  Form-0,8D

0,5
(0,02)

2,5
(0,1) 7,5

(0,29)

ø
0,

8
(ø

0,
03

1)

T1-12D  Form-1,2D

0,5
(0,02)

2,5
(0,1) 7,5

(0,29)

ø
1,

2
(ø

0,
04

7)

T1-B  Form-B

R0,2
(R0,008)

7,5
(0,29)

T1-16D  Form-1,6D

0,5
(0,02)

3   (0,1)

7,5
(0,29)

ø
1,

6
(ø

0,
06

)

T1-24D  Form-2,4D

0,5
(0,02)

(0,14)  3,5

7,5
(0,29)

ø
2,

4
(ø

0,
09

)

T1-4D  Form-4D

0,5
(0,02)

(0,16)    4

7,5
(0,29)

ø
4

(ø
0,

16
)

T1-1BC  Form-1BC

45° 
10

(0,39)

ø
1

(ø
0,

04
)

T1-2BC  Form-2BC

45° 
10

(0,39)

ø
2

(ø
0,

08
)

T1-3BC  Form-3BC

45° 
10

(0,39)

ø
3

(ø
0,

1)

T1-4C  Form-4C

45° 

10
(0,39)

ø
4 

(ø
0,

16
)

T1-1BCF Form-1BC
Schnittfläche vorverzinnt

45° 
10

(0,39)

ø
1

(ø
0,

04
)

T1-2B  Form-2B

(R0.02)

(0.39)

R0.5

10

90(3,51)
110(4,29) ø

4,
8

(ø
0,

19
)

T1-LI  Form-LI

12
(0,47)

R0,1
(R0,004)

T1-LB  Form-LB

12
(0,47)

R0,2

(R0,008)

T1-02J  Form-0,2RB

45° 
10

(0,39)

ø
2

(ø
0,

08
)

T1-3BCF Form-3BC
Schnittfläche vorverzinnt

45° 
10

(0,39)

ø
3

(ø
0,

1)

T1-4CF  Form-4C
  Schnittfläche vorverzinnt

45° 

10
(0,39)

ø
4 

(ø
0,

16
)

T1-2BCF Form-2BC
Schnittfläche vorverzinnt

12
(0,47)

R0,2

(R0,008)
30° 

4    (0,16)

T1-I  Form-I

7,5
(0,29)

R0,1

(R0,004)

T1-K  Form-K

9,5
(0,37)

1,5
(0,054)

45° 

ø
4 

(ø
0,

16
)

T1-KL  Form-KL

9,5
(0,37)

1,5
(0,054)

45° 

ø
4 

(ø
0,

16
)

Maße: mm (inch)

T1-02JS  Form-0.2RSSB

R0.230
°

1.6

7.9

(0.06)

(R0.08)

(0.31)



1

6

2

5

6

3

4

Nr.

1

2

3

4

5

6

Teile Nr.

B2379

B2380

B2284

B2378

B2665

Teile-Namen

Handle assembly

O-ring spacer

O-ring (P5)

Nipple

Tip

Heat resistant pad

Beschreibung

With connecting cord

With handle cover, O-ring (P5)

See front page

� 911 Teile

� Köcher Teile

Nr.

1~5

Teile Nr.

634-05

Teile-Namen

Iron holder/Gray

Beschreibung

For HAKKO 911, 912

� Lötkolbenköcher

Nr.

1~4

Teile Nr.

911-01

Teile-Namen

Hakko 911

Beschreibung

15V-45W

� 911 Lötkolben

1

3

5

4

2

Nr.

1

2

3

4

5

6

Teile Nr.

B2787

B2791

B2786

B2802

A1495

B2607

Teile-Namen

Iron receptacle/Silver

Retaining clip

Iron receptacle holder

Iron holder base/Gray

Cleaning sponge

Tip tray

Description

With two screws
for 907, 908, 911, 912, 
913, 914, 953, 954, 956

With rubber foot

Dec. 2002
MA01201JT021201

STÜCKLISTE

1

2

3

4

5

6 7

8

9

10

11

12

Binding head tapping screw
(Fluted point) (M3.5 × 50)(4)

Binding head
tapping screw
(Fluted point)
(M3 × 8) (2)

Tapping screw 
(Fluted point)
(M2.6 × 10) (4)

Binding head 
tapping screw
(Fluted point)
    (M3 × 8) (3)

Pan head screw 
(M4 × 6) (2)

Spring washer 
(nominal size 4) (2)

Tapping screw 
(Fluted point)
(M4 × 10) (2)

External tooth 
lock washer 
(nominal size 4) 
(2)

� 941 Lötstation
Nr.
9

10
11
12

Teile Nr.
B2571

B2667
B2663
B2668

B2421
B2422
B2423

B2424

B2425
B2426

Teile-Namen
Bottom case

Rubber foot
Power switch
Power cord, 3 core & 
American plug
Power cord, 3 core, no plug
Power cord, 3 core, BS plug
Power cord, 3 core, 
European plug
Power cord, 3 core, 
European plug
Power cord, 3 core, BS plug
Power cord, 3 core, 
Australian plug

Beschreibung
With power receptacle, 
rubber feet
4 ea.

 

India
Korea

Eur.

U.K.

Nr.
1
2
3

4
5

6
7
8

Teile Nr.
B2568
B2388
B2569

B2664
B2570
B2599
B2590
B2600
B2591
B2592
B2594
B2383
B2666
B2403
B2404

Teile-Namen
Upper case
Control card
P.W.B. (temperature control 
& power supply) – 2 pcs.
Grounding plate
Transformer
Transformer
Transformer
Transformer
Transformer
Transformer
Transformer
Connector board
Power receptacle
Fuse, 250V-2A
Fuse, 250V-1A

Beschreibung
With membrane sheet

100-15V (mit Schrauben)
110-15V (mit Schrauben)
120-15V (mit Schrauben)
220-15V (mit Schrauben)
230-15V (mit Schrauben)
230-15V (CE) (mit Schrauben)
240-15V (mit Schrauben)

100~120V
220~240V

BEMERKUNG:
Ersatzteile oder Reparatur-
sätze enhalten keine
Schrauben wenn diese
nicht in der Liste enhalten
sind. Schrauben müssen
gesondert angefordert
werden.


